EE223 Collaborative Solutions Lecture 2

0, t<0, T

Given v(t)=14t, 0<t<1
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4B t>1

1 .
across a EMF capacitor

a) Find i(t) through it

b) Find p(t) delivered to it (power)

c) Find w(t)storedinit (energy)

d) Find fooop(t) dt and comment on its significance
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0, t<0s, iv
Given i(t)=1500t, 0<t<20us 1mt7|
0, t>20us .

|
is delivered to an uncharged 0.2uF cap. | 20u

a) Find wv(t) across the capacitor fort> 0.
Why does a voltage remain on the capacitor after the current is zero from an

b)
intuitive viewpoint?
. \ +
o) Begon \ o \ i) \vle) v 5. i@ dz+ vk
Ffeo -2\ O o =
= odt+0=0
O¢réWm| O Soo t (@) - (c;pé) S° sooTdTrO=(S M)(QSOf l:>.§+95v
r>0m |00l 0 \1as50@0%6| - 0+35: sv
12,5400 Y G
-5 o(
i~ s Shretele

b) AF—\-e_r Q\O/AS sV oF PfCSSVf'Q, % S“\'b((CQ
d&shc— "d\ap\r\ WA Y current Rt o Tev O No
Lor¥\—ur " ov e At OQ o &\O.Q\\rM\ S ?OSS\\J\C & ‘\'\/\._,

\)o\\-c,,%g_, ermons SV,

3. Given the following circuit
Find vy, Uy, VU3, ll
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